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Paper - I
PLEEEE |

This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.

e (andidate is expected to answer any Fifty (50) questions.
e In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions

will be evaluated.

o T IYTH H WIS (60) SEahe H9 & | Hedeh T h 3 (2) 3h ¢ |

o Tl I HIE o T (50) YT & ST E |

o I U= (50) T 3Tk U9l & SR 153 Al Mew w= (50) U & S S |

Which of the following variables
cannot be expressed in quantitative
terms ?

(A) Socio-economic Status
(B) Marital Status

(C) Numerical Aptitude
(D) Professional Attitude

A doctor studies the relative
effectiveness of two drugs of dengue
fever. His research would be
classified as

(A) Descriptive Survey

(B) © Experimental Research
(C) Case Study

(D) Ethnography

The term ‘phenomenology’ is
associated with the process of

(A) Qualitative Research
(B) Analysis of Variance
(C) Correlational Study

(D) Probability Sampling

The ‘Sociogram’ technique is used
to study

(A) Vocational Interest

(B) Professional Competence
(C) Human Relations

(D) Achievement Motivation

1.

ffetad =1 ¥ 9 f5a aREmmes w1
o Sffirere et foram ST Fehdr 2

(A) HHITh- ST TR

(B) dartesh fafd

(C) HE=ATHS ATTeTTT

(D) URIeR FAfHgf

U Tafehegss 7 S @R i &1 St
i AT TATEIeTaT bt 3Tera foha |
3Gk M1 <Rl aTTiche [ehaT STTETT

(A) TUFTCHS GO F T H |

B) TS MY FETH |

(C) . SAfIH T H A |

(D) TAAHAHFETH |

e (TS e
freferiiaa ot ufshar @ Twfa €

(A) T[T e ht
(B) VRROT & fa9eiOT i

(C) eHwIY & 37T i
(D) eIt & Uiqaa i

“QITFIITH’ Teh-Teh T WANT ThAT ST &
(A) SEFIEE T & eHTT o [T |
(B) USSR &THAT & 3Te7a & feld |
(C) YT HeY & 37eza o [y |
(D) UGS UROT o 3779 o feTw |

P.T.O.



Read the following passage carefully and answer questions from 5 to 10 :

It should be remembered that the nationalist movement in India, like all nationalist
movements, was essentially a bourgeois movement. It represented the natural historical stage
of development, and to consider it or to criticise it as a working-class movement is wrong.
Gandhi represented that movement and the Indian masses in relation to that movement to a
supreme degree, and he became the voice of Indian people to that extent. The main
contribution of Gandhi to India and the Indian masses has been through the powerful
movements which he launched through the National Congress. Through nation-wide action
he sought to mould the millions, and largely succeeded in doing so, and changing them from
a demoralised, timid and hopeless mass, bullied and crushed by every dominant interest, and
incapable of resistance, into a people with self-respect and self-reliance, resisting tyranny,
and capable of united action and sacrifice for a larger cause.

Gandhi made people think of political and economic issues and every village and every
bazaar hummed with argument and debate on the new ideas and hopes that filled the people.
That was an amazing psychological change. The time was ripe for it, of course, and
circumstances and world conditions worked for this change. But a great leader is necessary to
take advantage of circumstances and conditions. Gandhi was that leader, and he released
many of the bonds that imprisoned and disabled our minds, and none of us who experienced
it can ever forget that great feeling of release and exhilaration that came over the Indian
people.

Gandhi has played a revolutionary role in India of the greatest importance because he
knew how to make the most of the objective conditions and could reach the heart of the
masses, while groups with a more advanced ideology functioned largely in the air because
they did not fit in with those conditions and could therefore not evoke any substantial
response from the masses.

It is perfectly true that Gandhi, functioning in the nationalist plane, does not think in
terms of the conflict of classes, and tries to compose their differences. But the action he has
indulged and taught the people has inevitably raised mass consciousness tremendously and
made social issues vital. Gandhi and the Congress must be judged by the policies they pursue
and the action they indulge in. But behind this, personality counts and colours those policies
and activities. In the case of very exceptional person like Gandhi the question of personality
becomes especially important in order to understand and appraise him. To us he has
represented the spirit and honour of India, the yearning of her sorrowing millions to be rid of
their innumerable burdens, and an insult to him by the British Government or others has been
an insult to India and her people.
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Which one of the following is true of

the given passage ?

(A) The passage is a critique of
Gandhi’s role in Indian
movement for independence.

(B) The passage hails the role of
Gandhi in India’s freedom
movement.

(C) The author is neutral on
Gandhi’s role in India’s
freedom movement.

(D) It is an account of Indian
National Congress’s support to

the working-class movement.

The change that the Gandhian
movement brought among the Indian

masses was
(A) Physical
(B) Cultural
(C) Technological
(D) Psychological

To consider the nationalist

movement or to criticise it as a
working-class movement was wrong

because it was a

(A) historical movement

(B) voice of the Indian people
(C) bourgeois movement

(D) movement
Gandhi

represented by

T UNesE & O | (Efeiad | 9 i
HHA T ?

(A) IRWT @Waad & o aRdE
M=o | TeST wht JfHehr i
T E |

(B) UR=®T 9Rd & WA=l SRl
T ST e H ST
FIATE |

(C) ©EF RA & WA=l A= o
TSt el iR T A & |

(D) TE St o Sf<ie & Ui
feam Aot FUW F GHI H
faaRor & |

THETATET SR FIT R ST § @Y
ST aTet IRaT &

(A) g HifcTH

(B) JFFias

(C) wrRIfEhE

(D) HAEIE

AT TR bl TSI ol ST et
THFAT 3R UHT THT Y ST AT

AT A &, I T8

(A) eI =T o |

(B) TR STl ol 37T T |
(C) TSI (TEAaRTI) M=ot o |

(D) UHT 3M=ie o1 feepr ufdffe
et = fearm |
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Gandhi played a revolutionary role

in India because he could

(A) preach morality
(B) reach the heart of Indians

(C) see the conflict of classes

(D) lead the Indian National
Congress
Groups with advanced ideology

functioned in the air as they did not

fit in with
(A) objective conditions of masses
(B) the Gandhian ideology

(C) - the class consciousness of the

people

(D) the differences among masses

The author concludes the passage by
(A) criticising the Indian masses
(B) the Gandhian movement

(C) pointing out the importance of

the personality of Gandhi

(D) identifying the sorrows of

millions of Indians

10.

TS 3 RA | SRR R 3TRT
Y, HIH T

(A) Afdehar 1 TR o Thdl & |
(B) WIRAE o et e Ugd Wehdl & |
(C) ot o TS 3 bl o |

(D) HRA™ ¥ HUF H Aged W
THA S |

3+ [IaRERT & e &1 °H H e
w®, Fifh o H=TaRad & Qg Sh-3rh
ST &l T

(A) - SFEERUT i S-S fRerfaat
B) e faERERT
(C). AT I =T <t

(D) ST &g 9T

T 7 U= ol THTO fohar &

(A) ERA™E STETEROT S SATAET Y
%

(B)  TIHeeT ST §RT

(C) TIIISTr o SAferdcel o Hewdl sal e

(D) SN TRAET =l T Tg=T X

P.T.O.
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12.

13.

14.

15.

16.
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Media that exist in an interconnected
series of communication — points are
referred to as

(A) Networked media
(B) Connective media
(C) Nodal media

(D) Multimedia

The information function of mass

communication is described as
(A) diffusion (B) publicity

(C) surveillance (D) diversion

An example of asynchronous
medium is

(A) Radio (B) Television
(C) Film (D) Newspaper

In communication, connotative
words are

(A)  explicit (B) abstract
(C) simple (D) cultural

A message beneath a message is
labelled as

(A) embedded text
(B) internal text
(C) inter-text

(D) sub-text

In analog mass communication,

stories are

(A) static

(B) dynamic
(C) interactive
(D) exploratory

11.

12.

13.

14.

15.

16.

TR &l Fadefud ofgen d faeme
Hitear # fagat =1 foh w0 o 756 Toran
STare ?

(A) “eae Hitean

(B) HAST Hitear

(C) Wit Hitean

(D) =g Hifea

ST HER o o1 1 H IUH fhg T H
fepan ST & 2

(A) fogRor
(C) FmmEr

(B) WER
(D) foge™

SqeThIeTeh  (ATTHh-E) ATEH A
IR FHFATE ?

(A) et (B) <eiifosH
(C) Tem (D) THER-TA
TOR ¥, T[T 5 B 9 & ?

(A) EET (B) et
(C) Tt (D) WiERiaw
HeT & A Gl Wl T A I S
g2

(A) 3id:enfud ww

(B) 3Rk T

(C) T

(D) SU-T

3TEY 59 IR | FHel-at

(A) Sfdw e e |

(B) TAHH EIE |
(C) TIASHATHS eIl & |
(D) 3TITUTeHe el & |
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18.

19.

20.

21.

22.
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Determine the relationship between
the pair of words ALWAYS
NEVER and then select from the
following pair of words which have
a similar relationship :

(A) often : rarely

(B) frequently : occasionally
(C) constantly : frequently
(D) intermittently : casually

Find the wrong number in the
sequence :

52,51,48,43, 34,27, 16
(A) 27 B) 34
(C) 43 (D) 48

In a certain code, PAN is written as
31 and PAR as 35, then PAT is
written in the same code as

(A) 30 (B) 37
C) 39 (D) 41

The letters in the first set have
certain relationship. On the basis of
this = relationship, make the right
choice for the second set :

AF:IK ::LQ:?
(A) MO (B) NP
(C) OR (D) TV

If 5472 = 9, 6342 = 6, 7584 = 6,
what is 9236 ?
(A) 2
<€ 4

B) 3
D) 5

In an examination, 35% of the total
students failed in Hindi, 45% failed
in English and 20% in both. The
percentage of those who passed in
both subjects is

(A) 10
(C) 30

(B) 20
(D) 40

17.

18.

19.

20.

21.

22,

35 T ALWAYS : NEVER ® 9w
T T q T T F 39 IS-FH B
Tear S o gy

(A) HW : fored

(B) sgET AT

(C) J1 o oSgEn

(D) FeR™ : I & (I )

et S # 3t s T
52,51, 48,43, 34,27, 16

(A 27 B) 34
(C) 43 (D) 48

Teh Tichieh WOl § PAN =t 31 forar
ST € q97 PAR 1 35 forar <iran @, ot
PAT = feian S

(A) 30 (B) 37

C) 39 (D) 41

0 T Yget SER-gi H UH fav
T E | T T h AR W T
ST h [0 9 § | e =99

I :

AF:IK:: LQ:?
(A) MO (B) NP
(C) OR Db) TV

i€ 5472 =9, 6342 =6, 7584 =6 &l
9236 ¢ ?

(A) 2 (B) 3
<€ 4 D) 5

T W ¥ FoA § F 35% o et 7,
45% U ¥ T2 20% AT H et U |
T farsat § ur g St ST ufderd §
A) 10 (B) 20

©) 30 (D) 40

P.T.O.
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24.

25.

26.
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Two statements I and II given below
are followed by two conclusions (a)
and (b). Supposing the statements
are true, which of the following
conclusions can logically follow ?
Statements :
I.  Some flowers are red.
II. Some flowers are blue.
Conclusions :
(a) Some flowers are neither
red nor blue.
(b) Some flowers are both red
and blue.
Only (a) follows.
Only (b) follows.
Both (a) and (b) follow.
Neither (a) nor (b) follows.

(A)
(B)
(©)
(D)

If the statement ‘all students are
intelligent’ is true, which of the
following statements are false ?

(i) No students are intelligent.
(i1)) Some students are
intelligent.

(i11)) Some students
intelligent.

(1) and (ii)
(1) and (ii1)
(i1) and (iii)
(i) only

are not

(A)
(B)
(©)
(D)

A reasoning where we start with
certain particular statements and
conclude with a universal statement
is called

(A) Deductive Reasoning

(B) Inductive Reasoning

(C) Abnormal Reasoning

(D) Transcendental Reasoning

What is the smallest number of
ducks that could swim in this
formation — two ducks in front of a
duck, two ducks behind a duck and a
duck between two ducks ?

(A) 5 B) 7

< 4 D) 3

10

23.

24.

25.

26.

F= feu oo e 1 eiR 11 g <
TTshY (a) 79T (b) Rt ST Hehel € | 8
A gU o SHT o el €, 9 f5u 7y
o ¥ I G ST qehETa g ?
T ;[ FOFAAASAE |
II. FFAAABE |
e :(a) T8 B T @ o T &
A TAE |
(b) F FeA AT AT et JHT
TIHEAT |
HaeT (a) THATTE |
el (b) THETTA & |
(a) T (b) IHT THTTA & |
(a) TT (b) IAT TR T&T € |

(A)
(B)
(©)
(D)

g o <@t B glgHE & 9 &,
T F 1 Qo T R € 2

(i) DA IEAF TR T |
(i) v S DA ST E |

(iil) P2 I T Tl & |

(i) T (ii)

() 7T (iii)

@i) T (i)

FHaet (i)

(A)
B)
(©)
(D)

U e e & foedr fofre e |
UR™ h Uk QIaHiieh o= & 9
(A) Tt a%
(B) 3INTATH dh
(C) 3™ T
(D) 3TN ek

=1 aftfeafa 9 &9 9 %9 foramt 909 &
Thell & — T TG F 3T I 94T, Th
TAG o TS T I AT U S & 37

1 e Ueh-Ueh I ?
(A) 5 (B) 7
© 4 (D) 3
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28.

29.

30.

31.
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Mr. A, Miss B, Mr. C and Miss D

are sitting around a table and

discussing their trades.

(i) Mr. A sits opposite to the
cook.

(i1) Miss B sits right to the barber

(iii) The washerman sits right to
the barber

(iv) Miss D sits opposite to Mr. C

What are the trades of A and B ?

(A) Tailor and barber

(B) Barber and cook

(C) Tailor and cook

(D) Tailor and washerman

Which one of the following methods

serve to measure correlation between

two variables ?

(A) Scatter Diagram

(B) Frequency Distribution

(C) Two-way table

(D) Coefficient of
Correlation

Rank

Which one of the following is not‘an
Internet Service Provider (ISP) ?

(A) MTNL

(B) BSNL

(C) ERNET India

(D) Infotech India Ltd.

The hexadecimal number system
consists of the symbols

(A) 0-7

B) 0-9,A-F
C) 0-7,A-F
(D) None of these

The binary equivalent of (-15), is
(2’s complement system is used)

(A) 11110001

(B) 11110000

(C) 10001111

(D) None of these

27.

28.

29;

30.

31.

g A, 99 B, gme C 3R fq@ D
T BT & T5-11TS o3 & 3R 310 FRIIR
FIRATNHEE |

(i) S\ A I S ET IST |
(i) THE B AE & IET SR E |
(iii) et € & I ST |

(iv) @D SR CFHFama a3 e |
A 3R B % Ho@E 1€ ?

(A) ST SR TS

(B) e 3R @A

(C) TSI 3R TdrEan

(D) TSI 3R et

W F AF eI " F o
frfeiad o 9 i |1 okl 1 3T ?
(A) To=mivl e

(B) SRERAT s

(C) | SI-IHT cAITeTehT

(D) I FeqwI= T T[UTH

fpfeifan & @ S @ et gew
ege (ISP) TEf & ?

(A) MTNL (Tq 2} T UeT)

(B) BSNL (5 78 T o)

(C) T e (3. 3R.UA.3.2. $fean)
(D) RICe S fofies

ST R 37 Ugid H A 9 foe
I B & 2

(A) 0-7

(B) 0-9,A-F

(C) 0-7,A—-F

(D) i ot 7@t

(-15),, 1 & FeIEE (2 B Th
Tl 1 SuE R €) ©
(A) 11110001
(B) 11110000
(C) 10001111
(D) i ot 7@t
P.T.O.
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1 GB is equal to
(A) 2% bits

B) 2%
©
(D)

bytes
229 bits

220 bytes

The set of computer programs that
manage the hardware/software of a
computer is called

(A)
(B)
(©)
(D)

Compiler system
Operation system
Operating system
None of these

S/MIME
stands for

(A)

in Internet technology

Secure Multipurpose Internet
Mail Extension

Secure Multimedia Internet
Mail Extension

(B)

(C) Simple Multipurpose Internet

Mail Extension

(D) Simple Multimedia Internet

Mail Extension

Which of the following is not
covered in 8 missions under the
Climate Action Plan of Government
of India ?

(A)
(B)
(©)
(D)

Solar power
Waste to energy conversion
Afforestation

Nuclear energy

The concentration of Total Dissolved
Solids (TDS) in drinking water
should not exceed

(A) 500 mg/L
(C) 300 mg/L

(B) 400 mg/L
(D) 200 mg/L
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32.

33.

34.

3s.

36.

1 GB SRR &

(A) 20
(B) 20T R ®
(C) 2207
(D) 229 Ee" &

FI o FTSR/HFAIR i FTord
XA FTCT FRX WUTH T T 1
FECAAT§ ?

(A) THEER fawed

(B) 3AToeM faed

(C) ATmfeT fawen

(D) i3 o Tl

I U=l § S/MIME &7 a1ed €

(A) [TFER TRWUT e B
TSI

(B) TR wHedHiedr e e
TSI

€ famer Aemos feEe B
eCRENEE

D) T AedHitear HS  TA
THIYH

IRA WHR H T FE IS h
3T 8 el H fAETeAiad ¥ § i
ftafad Ter & ?

(A) ER 9T

(B) ST | Foll TUTROT

(C) R

(D) iRlT STt

SoreTer § Pt S o T T qE
freaferfia & offerr 781 BT e

(A) 500mg/L¥ (B) 400 mg/L ¥
(C) 300mg/L¥ (D) 200 mg/L ¥
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‘Chipko’ movement was first started
by
(A)
(B)
©
(D)

Arundhati Roy
Medha Patkar

Ila Bhatt

Sunderlal Bahuguna

The constituents of photochemical
smog responsible for eye irritation
are

(A)
(B)
(©)
(D)

SO, and O,
SO, and NO,

HCHO and PAN
SO, and SPM

Assertion (A) : Some carbonaceous
aerosols may be carcinogenic.

Reason (R) : They may contain

polycyclic aromatic

hydrocarbons (PAHs).

Both (A) and (R) are correct

and (R) 1is the correct

explanation of (A).

Both (A) and (R) are correct

but (R) is not the corréct

explanation of (A).

(C) (A)is correct, but (R) is false.

(D) (A) is false, but (R) is correct.

(A)

(B)

Volcanic eruptions affect

(A) atmosphere and hydrosphere

(B) hydrosphere and biosphere

(C) lithosphere, biosphere
atmosphere

lithosphere, hydrosphere and
atmosphere

and

(D)

India’s first Defence University is in
the State of

(A) Haryana

(B) Andhra Pradesh
(C) Uttar Pradesh
(D) Punjab
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37.

38.

39.

40.

41.

T

(A) TEUA T §RT
(B) THT UIEh gRT
(C) TMHgE

(D)  F=IATe SIgToT 5T

G H ST o fo1d STRETE TehrsT THE
(FIeIohiHeheT) o YH-TeX o Hh &
(A) SO, T 0,

(B) SO,TINO,

(C) HCHO ts PAN

(D) SO, T SPM

FET(A) P  FEHS  TREA
FEEHE  (FMEASE) &
Hha e |

HRUT(R) : 378 TEEshiE  WHiCE

ETEgIhTe &l Hohdl & |

(A) @21 (R) ST W&l & e (R),

(A) F T ATATE |

(&) 71 (R) SHI W&l €, o (R),

(A) ! T&I AT TR & |

(A) Ge g, W (R) oI & |

(A) T &, T (R) TeT & |

ST SR e it &

(A) JTTHUESHA TS STTHISH i

(B) STOTHUSH Ud SIIHUSH i

(C) TICTHUSH, SITHUSH Ud AgHuSH
Eal
TICTHUEA, STTHUSH U STgHUSA
Eal

TRT T God TEell UieRen fovafammea
T e ?

(A) ERAm

(B) 3TY URTT

(C) STRUR

(D) dSTE

(A)

(B)

(©)
(D)

(D)

P.T.O.
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Most of the Universities in India

(A) conduct teaching and research
only

(B) affiliate colleges and conduct
examinations

(C) conduct teaching/research and
examinations

(D) promote research only

Which one of the following is not a
Constitutional Body ?

(A) Election Commission
(B) Finance Commission
(C) Union Public
Commission
Planning Commission

Service
(D)

Which one of the
statements is not correct ?
(A) Indian Parliament is supreme.
(B) The Supreme Court of India
has the power of judicial
review.

There is a division of powers
between the Centre and the
States.

There is a Council of Ministers
to aid and advise the President.

following

(©)

(D)

Which one of the following
statements reflects the republic
character of Indian democracy ?

(A) Written Constitution

(B) No State religion

(C) Devolution of power to local
Government institutions
Elected President and directly
or indirectly elected Parliament

(D)

Who among the following appointed

by the Governor can be removed by

only the President of India ?

(A) Chief Minister of a State

(B) A member of the State Public
Service Commission

(C) Advocate-General

(D) Vice-Chancellor of a State

University
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TR § ATehe} [aeaieamed

(A) ShareT T9T8TOT T IR il € |

(B) welcrRerdl s Trag $id & ad
TR A & |

(C) Toreron/emey e & T TRIeT
g

(D) FacT Y Sl WA A € |

11 o @ i T HereniTes Teen TE e ?

(A) THamm smam

(B) fa=t s

(C) T TAich W ST

(D) ST 3T

77 & @ P W1 U o T R ?

(A) YRA ¥ TGOS AR E |

(B) YRA % Fared =TT i =M
i BT SRR |

(C) s 9T TSI | V(AT T SIEaRT
g

(D)l it Tele <9 % o ity
IR E |

1 § 9 BT 91 I IR AT &

TOTCI=5Teh T S ST & ?

(A) Tafad gfaem |

(B) I~ T hE ¥ e |

(C) == @l & wfda @
TR |

(D) T T T HY 97 IRieT T
T T 99S |

T 5T Tge = ° 9 et

SHaeT ST T & ST Wehell § 2

(A) TS T JEAHA

(B) ISTohT Tk WA STERT 1 TS

(C) UEdhe SR

(D) T fovataametd sl Fadid



47.

The

Not For Visually Handicapped
Candidates

If two small circles represent the
class of the ‘men’ and the class of
the ‘plants’ and the big circle
represents ‘mortality’, which one of
the following figures represent the
proposition ‘All men are mortal.” ?

(A) oOo (B)
© (0)o  ® (0¥

following table presents the

production of electronic items (TVs and
LCDs) in a factory during the period from
2006 to 2010. Study the table carefully and
answer the questions from 48 to 52 :

Year

2006|2007 | 2008 | 2009 | 2010

gfee faspeti srtert o fore et

47. 3 I DI Iq HES: YHT T €Al

‘T ST BT UG T AT Teh 8T
T T’ (ATER) i USR H, af =
T ¥ % 9 o T8 US| el § 6
‘gt oy AR & 7

(A) oOo B)
(©) @o D) @

fefAfad aiferhl o Solgei-eh Iy
TIE Al TS el FRT Ll a9
TSl % 3cE 1 9y 2006 § 2010
T T SIRT UK AT T © | A1fetent
i & ¥ Uiy 71 U 48 W 52 TF
I T

TVs

6000 (9000 13000| 11000| 8000

EL)

2006

2007

2008

2009

2010

L.CDs

7000{9400| 9000 | 10000| 12000

A

6000

9000

13000

11000

8000

48.

49.

50.

51.

52,

W-00

In which year, the total production of
electronic items is maximum ?

(A) 2006 (B) 2007
(C) 2008 (D) 2010

What is the difference between
averages of production of LCDs and
TVs from 2006 to 2008 ?

(A) 3000 (B) 2867
(C) 3015 (D) 2400

What is the year in which production
of TVs is half the production of
LCDs in the year 2010 ?

(A) 2007 (B) 2006
(C) 2009 (D) 2008

What is the ratio of production of
LCDs in the years 2008 and 2010 ?
(A) 4:3 (B) 3:4

(C) 1:3 D) 2:3

What is the ratio of production of
TVs in the years 2006 and 2007 ?
(A) 6:7 B) 7:6

(C) 2:3 (D) 3:2

7000

9400

9000

10000

12000

48.

49.

50.

1.

52,

9 a9 § IolegiiTe awqell 1 3care
T 37T T ?

(A) 2006 (B) 2007

(©)" 2008 (D) 2010

a8 (2006 | 2008 TH Al @Ar
TA. TS, o SR o HHAMT 1 3R
FE ?

(A) 3000 (B) 2867

(C) 3015 (D) 2400

TE P T 9G¥ § A Ielffos H
3R 2010 H 3cAed UA.GLE. &

AT T 3THT g3 ?

(A) 2007 (B) 2006
(C) 2009 (D) 2008
2008 WS 2010 H UA.G.Sl. SR AT
ST T E 2

(A) 4:3 (B) 3:4

(C) 1:3 D) 2:3
2006 T 2007 | Ao ScAET T
ST T E 2

(A) 6:7 (B) 7:6

(C) 2:3 (D) 3:2

P.T.O.



FOR VISUALLY HANDICAPPED CANDIDATES ONLY
Read the following passage carefully and answer the questions from 47 to 52.
[This is from the address delivered by Swami Vivekananda at the World’s Parliament of
Religions, Chicago (on 11" September 1893)].

My thanks to some of the speakers on this platform who, referring to the delegates from
the orient, have told you that these men from far-off nations may well claim the honour of
bearing to different lands the idea of toleration.

I am proud to belong to a religion which has taught the world both tolerance and
universal acceptance. We believe not only in universal toleration, but we accept all religions
as true. I am proud to belong to a nation which has sheltered the persecuted and the refugees
of all religions and all nations of the earth. I am proud to tell you that we have gathered in our
bosom the purest remnant of the Israelites who came to Southern India and took refuge with
us in the very year in which their holy temple was shattered to pieces by Roman tyranny. I
am proud to belong to the religion which has sheltered and is still fostering the remnant of the
grand Zoroastrian nation. I will quote to you, brethern, a few lines from a hymn which I
remember to have repeated from my earliest boyhood, which is every day repeated by
millions of human beings : “As the different streams having their sources in different places
all mingle their water in the sea, so, O Lord, the different paths which men take through
different tendencies, various though they appear, crooked or straight, all lead to thee”.

The present convention, which is one of the most august assemblies ever held, is in
itself a vindication, a declaration to the world of the wonderful doctrine preached in the Gita :
“Whosoever comes to me, through whatsoever form, I reach him; all men are struggling
through paths which in the end lead to Me.” Sectarianism, bigotry, and its terrible descendant,
fanaticism, have long possessed this beautiful earth. They have filled the earth with violence,
drenched it often and often with human blood, destroyed civilisation and sent whole nations
to despair. Had it not been for these horrible demons, human society would be far more
advanced than it is now. But their time is come: and [ fervently hope that the bell that tolled
this morning in honour of this convention may be the death-knell of all fanaticism, of all
persecutions with the sword or with the pen, and of all uncharitable feelings between persons
wending their way to the same goal.

47. Swami Vivekananda said his religionsaccepted allreligions as

(A) from far-off nations (B) of different classes
(C) true (D) of several sects
48. The purest remnant of the Israelites took refuge in
(A) Rome (B) the United States
(C) Southern India (D) Zoroastrian nation
49. The different paths of men, though various in appearance, crooked or straight, lead to
(A) universal toleration (B) the Lord
(C) sheltering the persecuted (D) universal acceptance
50. Swami Vivekananda quoted a declaration to the world from
(A) the Bible (B) the Gita
(C) the welcome speech (D) the Hindu doctrine

51. The human society would have been more advanced had it not been for
(A) delegates from the Orient
(B) those horrible demons
(C) the universal toleration
(D) the Roman tyranny

52. The passage concludes with a hope that the convention would sound the end of
(A) different ideas (B) toleration of others
(C) all persecutions (D) charitable feelings

W-00 16
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et gite foreetiTT st & fora

et feam T uiess, sagde uigu SR e 53 7 ueet (47 9 52) 1 SR I
Bd ‘a}gqm%wrﬁzafmﬁaﬁaw,ﬁm(uﬁw, 1893) ® W@t fgasrg grT fst T
I 1]

T H W FF TS Bl BRI G=IETE, SRl (e Tegh (SRE) | WiATTerat sht 31X Gehd
A §U) 3R el & foh ST T @ g ol sAfekT St Fet W1 @ 371U € Feeretierdn o foar &
ToT8 T T 3Ta R Wehl € |

0 U8 o9 ¥ g4 1 79 ¢ O fova ol geeierd a9 Weties @Rt IHT 6 1S
fo@mn & | &9 7 Faet TrEd Feeierdr § favar aRd € W &9 9t g1t B T 71 9
PR A & | Gel UF T F &4 1 779 & T el ot & Sciifedt 3R YRt o 377 gt
% Gt T Rl 3 AT | G ST g I H T ¢ o g9 S Sorreler, ST SfeTon wRa |
M AR 3 99 579 I SRt ufert A< AAT AR §RT i Y fEaT T 91, gaR qiey g
foran, & qaife ufes TPt i g 370 859 | |ell foran & | 8 39 o 9 2H W 74 § e
T TR TS o 9IS ol 31 feam X a7t off 3 qifyey s @I € | wisal, § 3119eht Uk i
Y F dfeaar AT & 9 o 3797 YR Sreaehiet | e ST on, 31R S el Al gRy
AfAte e St & : 5 Tehr P aRTd 51k B BT T § € 379 STot g | foer €,
T @, & WY, =T vt @ i St 9= I ST €, Je fafe, 2 A dien oniT § W
Tt 9 T A 17

FAAH G, ST 379 T TR To7 el § ¥ U ¢, Wd § g0 &, M § 39e9
T ST T S forva ST SO € : it hie off o7y ot &0 & TR Uy 1l €, § 3 STl & ;
Tt A =T TT & SR FEY o T € ST 3T H YT 9 & S & I QrsiehdT, FERdl, 3R
ST AT AT FHIIAT = Tl FHT Toh 39 Gra Jeall TX heoll (Rl & | Sei Ul bt fedr § o
& ¥, 39 AR-aR OHe O F TR & @ il A 6 € SR Tl I Sl R H SR
YRR ¢ | 1% T8 WA e T Bt ol HHET THIST ST 3716 € SUd el SAaT S~Ief il | TR
SR HE 3T 7T € ;3R H STATE o A1 ST Shgell ¢ Toh.i =5l 37T GoIg 3 WrHor o 9rH o
TSN ot OF WHET THRIATS bl Gog Rl Hel@l, AR JsherHyehi e T 3t i gy, 3R Uh
& 183 i TR ¢ T& AT b el THhSFIRINFRI FersA157]:shh-§cg i Tt &l |

T} ToehTg = ST foh STeRT 98 FT §HT ohl (TETANET I oY e ohidl €

(A) T T oq (B) Ta=r ot o &
(C) T ed (D) <gd 9§ Ut o oy
TORTETCTAT o Tk Ure STa9IST = el IRT el ?
(A) T (B) TS W™
(C) =feoft et (D) TR g (SRG )
e o =1 T, w1 | fafar, 3¢ a1 9 &, IS R §
(A) WEtIH FeTeiterar (B) UYH U™
(C) Scdifeal i 3™ (D) Tafe Wit
T ferenTg = faver st 5o el ¥ 35Yd i ?
(A) TEfae (B) i
(C) e s (D) fEg=a
(A) 9T (3MRAT) T T Urerrer (B) wIH® e
(C) HaTIh FE-Teietdr (D) T AT
UREST T 3T o W GHT Biell & fob Teete Ffetiad o 37w ST Y[HRE Y :
(A) 1971 forem (B) =1 % Ufe Heeiiern
(C) M Seire (D) TRITHR HolgATd
17 P.T.O.
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Some students in a class exhibit
great curiosity for learning. It may
be because such children

(A) Are gifted
(B)
(©)
(D)

Come from rich families
Show artificial behaviour

Create indiscipline in the class

The most important quality of a
good teacher is

(A) Sound knowledge of subject

matter
(B) Good communication skills
©)

(D)

Concern for students’ welfare

Effective leadership qualities

Which one of the following is
appropriate in respect of teacher-
student relationship ?

(A)
(B)
(©)
(D)

Very informal and intimate
Limited to classroom only
Cordial and respectful
Indifferent

The academic performance of

students can be improved if parents
are encouraged to

(A) supervise the work of their

wards
(B)
©)
(D)

arrange for extra tuition
remain unconcerned about it

interact with teachers

frequently
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(A) wfquTemet € |

(B) o URARI* ¢ |
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(D)
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(B)
(©)
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(B) oFefl-oheT T Witd

(C)  FATEIIT T FEATor
(D) A

BET @ e It # guR @R S
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Sie)

(A) 3T STl &% HE F [ %
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SATANERT ZZTT ht T H |
Thh IR H fa=r T K |

TR-SR 37T o T i Far o |

(B)
(©)
(D)
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In a lively classroom situation, there
is likely to be

(A) occasional roars of laughter

(B)

complete silence

(C) frequent teacher-student
dialogue

(D) loud discussion among
students

If a parent approaches the teacher to
do some favour to his/her ward in
the examination, the teacher should

(A) try to help him

ask him not to talk in those

(B)

terms

(C) refuse politely and firmly

(D) ask him rudely to go away

Which of the following phrases®is
not relevant to describe the meanifig
of research as a process ?

(A) Systematic Activity
(B) Objective Observation
(C) Trial and Error

(D) Problem Solving

Which of the following is not
an example of a continuous
variable ?

(A) Family size
(B) Intelligence
(C) Height

(D) Attitude
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TS it el St el 7 e & W €
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(A) THI-THF W &Gl $ Fel S¢ |
(B) HHOl I T |

(C) IR-9R ST-TTeTeh AT & |
(D) BENH AR-SR F IE-foemg & |

Iig g AT 3TI etk ol T o
TRl WP T g 3TET TR
% feTu e, f 3TeaTTes ol =eT foh

(A) SHH! TETIdT FHH FH YT |

(B) &% ¢ {6 o7 W &eft oar =
FE |

(C) 75T T Sgal o a1 UhT el o
T Y |

(D) - FHSRAT ¥ 39 21 ¥ IA ST & o
FE |

Ts: Oisha] o &9 H MG H 37 T FA
% foU fr=fofad gfeaar & 9§ & 9
TGN el & 7

(A) wHFHEg TR

(B) TS STaeATh

(C) WA ud e

(D) THET FHT

fefafad § ¥ &9 UF gad =W &
ST TET§ 2

(A) URER & AHR
(B) W ()
(C) S

(D) o
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